A fL B

7T — B &

R ?a%%ﬁ%‘]\ﬂ
TRIHEY o TR R

bk & & SR E]- 15

E A T TR T 7K E 953

%

{15 BT 7K I AR 5 TSR PR ST AU

PRAL & Hn 64 44
AL TS b 4 6% 4

A FL S B RO

¥ % PrRBEAR SR )1 RERE, RN

LH ™S 4Ff 74 3HA31H £T

AT A RBTR T R
= AN RBHRE P %h

ES

& 4T ¥ R4 Fn 64F 4 A4
2K &

?,

# 4 8 1, 650, 000 [ g gz BTN AT
&l 1, 756, 700 1 ( 1,597, 000 [9) " (B) TNT AEH
HRISFIT, AMLFICRE SN SFEITYESFHD1005 D101 Y T 554 NE L2 88 Th 0 IEE Lo ALK TH 5,
. ’?a%“ 1 IEI 2 [
* # JNEAE & #H JNEA7. & HH s
(k) AHbue=r 2R 6 1, 600, 0004
WIS (BR) 3 1, 580, 000
F) 77 AEH 1 1, 500, 000 AL
P UER () 2 1, 550, 000
LB () 7 1,610, 0004
AT (BR) MPRIAIE 7 1,610, 000
BR) =2v% 4 1, 590, 0001
R ey 4 1, 590, 000
1 o :ﬁithkiEﬁ’@%& - FOHKGE IR - FoiEE 2 AKIEAGE R - A A KGERER CRER SRR 1 - @SR 1 E - &
SF AR BERE)
B 4 ¥ H = H TREE T AL SIS EEEES L0 | A RIEFITHT DA EEL R85 L0 EE L,
B2 2 K g8




